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Module 4b: Simplifying Radicals

Math Practice(s):
-Look for & express regularity in repeated reasoning.

Learning Target(s):
-Simplify & perform operations on radicals.

Homework:
HW#1: 4b #1-9

Aug 8-12:20 PM
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Warm-up
1. Complete the table by
squaring each number.

n n’
1 l
.G
3 | A
4 1V5)
5 2D
s Db
7 U9
s | oY
9 R)
0 [\OO
n \2]
2 1wy
13 W9
4 190
15 225
20 (OO
25 LS
30 |900
90 0O
50 2500

2. In the table to the left, each number in the Il2 column is called
a PERFECT SQUARE (#VOC): a product that results

from multiplying an integer by itself (i.e., the result when you
“square” an integer).

* 144 is a perfect square because it is a product of 12 and itself

* 16 is a perfect square because it is a product of 4 and itself

Fill in the blanks:
a. 81 is a perfect square because it is a product of 9 and itself.

b. 900 is a perfect square because it is a product of 30 and
itself.

n

¢. Ingeneral, n’isa perfect square because it is a product of

and itself.

Reflection:

d. Considering the statements above, explain why the number 54 is
not a perfect squa.re

Theve 'S N0 numbenr, row Hhelied
\o:j el , Hrat faoua\g S Y.

SU isn't o productof o
numbex and 1rgel L.

e. State 3 other numbers that are not perfect squares.

14,42 ,94,37, 200, \0),
IS0

3. Each of the following numbers has a factor that is a perfect square. Fill
in the blanks to show that the given number has a perfect square factor.
* Example: 20 is not a perfect square. However, one of its factors is a

perfect square: 4. Therefore, 20=4-3

a. 90 = q . \O e ?5=25. 3
b. 200 = \OD . R d 12 = L-‘ . 3
U - SO

2S- 3
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4. Re-write the following square roots as equivalent whole numbers.

.18
q-3

5. Which of the following expressions are equivalent to +/72?

Equivalent to V7272

a. V49 = 7 c. V25= 5 e. V144 = (Q_
b.v’8_1=o\ d.v’ﬁ=|?) t. vioo= | O

N2

s\vm P\CS'\' Yok co

Expression (Yes or No) 3(9 ° 2.
418 NO '
Jo-b ' =Ja -{b
26 No

HE
478"

Nes 4orm m
=S 26 N2

No

o 12’
12’

1o-4\8

N \o- |
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6. For each pair of numbers, indicate which one has a larger value. Do NOT use a calculator. Show
your reasoning,.

a. Tors\2 d (V7)* o (23)

A
O =z 7 2 E
S0 H-3
\a

b. 100r3v11 e. 157 or (10%+ 5%)

4@5‘ EE 22% (100 +2<5>
\25
e 3V3or2\7 f. V17 or If\-'5]2

@ O i ==
2 V2R

7. Solve each equation. Express your answer as a radical with no perfect square factors AND as a
decimal (rounded to the thousandths place).

a'{ x*440 b. x2+1opc! 400

5-\-695

‘I_"‘; (’“&55 %—@5

{10’

x—iloi—' (™ =13

X=1t \32] =tz

X=(.329 2-6.325

30
\FER IS
Sy {3"
5-2.43"
\O+ R’
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